PC LINK WORD FORMAT

FPDP 32 Bit Word RIM
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Fault Link Select

Sync

Bits not shown
connected to
FPDP Bus
are hardwired
on PC Link Bd - > - >
as shown.
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All Parities
. are Odd
FI|3r.stt Convert Bit
Transrlnitted 1=rectifier thyristors gated,
a.k.a fired
Special House Addresses O=rectifier thyristors blocked,
111111 (63d) = All Supplies /*—400nS/bit—\ a.k.a suppressed
111110 (62d) = All TF . . . .
111101 (61d) = All OH- Each word is 34 bits X 400nS/bit = 13.6us/word Block Bypass Bit
111011 (59d) = All OH+ 1.6[18 added between words 1=bypaSS thyristorgate blocked

Total time, in ps, to send N words = 13.6*N + 1.6*(N-1) O=bypass thyristor gated on



